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Question Number : 1 Question Id : 7532295060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh and Suresh are brothers. Anjali is wife of Ramesh. Ragini and Alok are children of Vaishali, who is the wife of Suresh. How is Ramesh
related to Alok?

Options :

1. ¥ Paternal Uncle
2. * Maternal Uncle
3. % Cousin

4. % Father-in-law

Question Number : 1 Question Id : 7532295060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ =l

2. % HMH

3. % TR U

4. % Y

Question Number : 2 Question Id : 7532295061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Summaiya spends 60% of her monthly income on household items, 30% of the remaining on house rent and clothes, and saves 30% of the
remaining. If her monthly salary is 360,000, then how much money does she save?

Options :

1. % 25,200
2. % 12,000
3. % 28,000
4. ¥ 35,040

Question Number : 2 Question Id : 7532295061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 325,200
2. % 212,000
3. % 28,000
4. ¥ 35,040

Question Number : 3 Question Id : 7532295062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The number of chairs in each row of a seminar hall is equal to the total rows in the hall. After removing 121 chairs from the hall, there were
10,488 chairs left. How many rows of chairs were there in the hall?

Options :
1. % 100
2. % 102
3.9 103
4. % 104

Question Number : 3 Question Id : 7532295062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * 100

2. % 102

3.¥ 103

4. % 104

Question Number : 4 Question Id : 7532295063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

Some birds are lizards
Some lizards are peacocks
Conclusions:

I. Some birds are peacocks
II. Some peacocks are birds

Options :

1. * Only conclusion I follows



2. % Only conclusion II follows
3. # Both conclusions I and II follow

4. # Neither conclusion I nor II follows

Question Number : 4 Question Id : 7532295063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 5 Question Id : 7532295064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.
Options :

1. # Red

2. % Green

3. % Pink

4. ® Blue



Question Number : 5 Question Id : 7532295064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

famedl o IR Ueg fqu U § R § i ol TR | T € Tafth Toh ST | SR g, 1 T8 B |
Options :

1. # dlcd

2. %Xl

3. T[arat

4. % el

Question Number : 6 Question Id : 7532295065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are zebras and parrots in a zoo. By counting heads, they are a total of 90. The number of legs is 210. How many parrots are there?
Options :

1. #* 60

2. % 65

3.% 72

4.9 75

Question Number : 6 Question Id : 7532295065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 60

2. % 65

3.% 72

4. 75

Question Number : 7 Question Id : 7532295066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A total of 415 coins of %2 and 5 denominations make a sum of 21,550. The number of 5 coins is:
Options :

1. # 120

2. % 144

3. % 220

4. % 240

Question Number : 7 Question Id : 7532295066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

22 3R 25 g I & 415 Rigep! &1 Fd G 21,550 81 25 & Rygep! B We fpat &2
Options :

1. % 120

2. % 144

3. % 220

4. % 240

Question Number : 8 Question Id : 7532295067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number set that is analogous to the given set?

(21,7, 126)
Options :

1. % (42, 14,294)
2. % (33,11, 196)
3.9 (33,11, 198)
4. % (42,16, 252)

Question Number : 8 Question Id : 7532295067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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(21,7, 126)
Options :

1. % (42, 14, 294)
2. % (33,11, 196)
3.9 (33,11, 198)
4. % (42, 16, 252)

Question Number : 9 Question Id : 7532295068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing letter in the following letter series.

K,I,G,E, C>?
Options :
1.* B

2.9 A

3.% 7

4. %Y

Question Number : 9 Question Id : 7532295068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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K, LLG,E C)?
Options :

1. % B

2.9 A

3.% 7

4. %Y



Question Number : 10 Question Id : 7532295069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words is different from the rest in a certain manner?
Options :

1. ® Cow

2. % QGoat

3. % Zebra

4. % Horse

Question Number : 10 Question Id : 7532295069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. = 1Y

2. % gHII

3. ¢ SISl

4. % 9T

Question Number : 11 Question Id : 7532295070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Power is to Watt as Mass is to

Options :

1. * Balance

2. % Weight

3. ¥ Kilogram

4. *# Jtem

Question Number : 11 Question Id : 7532295070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

L. % Her

2. % YR

3. ¢ fhaum

4. ® Hq

Question Number : 12 Question Id : 7532295071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set in which the numbers are related in the same way as the numbers of the following set.

(16,4, 2)
Options :

1. % (24,4, 6)
2. % (200, 5, 20)
3. % (18,3,5)
4. % (40, 20, 20)

Question Number : 12 Question Id : 7532295071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(16,4,2)
Options :

1. % (24,4, 6)
2.9 (200, 5, 20)
3. % (18,3, 5)
4. % (40, 20, 20)




Question Number : 13 Question Id : 7532295072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can replace the question mark (?) in the following series.

M,0,U, W,?
Options :

1. % Z

2. % B
3.¢C

4. %Y

Question Number : 13 Question Id : 7532295072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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M,0,U, W,?
Options :

1. % Z

2.% B

3. ¢°C

4. %Y

Question Number : 14 Question Id : 7532295073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the below two Statements carefully and identify which of the Conclusions are definitely true.

Statement:
A) No Bed is a Room.
B) All Lamp are Bed.



Conclusion:

I. No Lamp is a Room.

1. All Lamps are not Rooms.
111. All Rooms are not Lamps.
1V. Some Lamps are Rooms.

Options :

1. # Only conclusion I follows

2. % Only conclusionll follows

3. # Neither conclusion III and conclusion II follows
4. % Conclusions I, IT & III follow

Question Number : 14 Question Id : 7532295073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 15 Question Id : 7532295074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Read the Statement carefully and observe.

Statement:
A) All FLOWERS are LEAF.
B) All LEAF are ROOTS.

Conclusion:

I. All ROOTS are FLOWERS.

II. All FLOWER are ROOTS.

111. Some ROOTS are FLOWERS.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. % Neither conclusion I and conclusion II follows
4. ¥ Both conclusions II and III follows

Question Number : 15 Question Id : 7532295074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 16 Question Id : 7532295075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can replace question mark (?) in the following series.

G ILM,?
Options :
1. % Q
2.¥P
3.0
4. % R

Question Number : 16 Question Id : 7532295075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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G ILM,?
Options :
1. % Q
2.¥P
3.0
4. % R

Question Number : 17 Question Id : 7532295076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following patterns can be folded to make the cube shown in question?

Options :

4. v




Question Number : 17 Question Id : 7532295076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4.

Question Number : 18 Question Id : 7532295077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

e -

Options :
o o
O o
1. %
o
o
2. %



O O
O O

3.¢

Question Number : 18 Question Id : 7532295077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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o
0
2. %
oo
0O 0
3. ¢
o
(o]
O
o
o
4. %

Question Number : 19 Question Id : 7532295078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure (from 1, 2. 3 and 4) in which the given figure (X) is embedded (rotation is NOT allowed).

B |V B[ %P

X 1

8]
(]

Options :
1.¢ 1



4, % 4

Question Number : 19 Question Id : 7532295078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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X 1 2 3 i
Options :
1.¢ 1
» ® 2
3 % 3
4.% 4

Question Number : 20 Question Id : 7532295079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is correct for the bracketed terms with respect to their inclusion in the given series.

2 3 5 (1) 11 13 a7 (E)
3 N5 Ty TRt as Tar Pae T Az
Options :

1. % Both the bracketed terms are correct
> % Both the bracketed terms are incorrect

3« The first bracketed term is correct, and second term is incorrect

4 % The first bracketed term is incorrect, and second term is correct

Question Number : 20 Question Id : 7532295079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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Section type :
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Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
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Question Shuffling Allowed :

Question Number : 21 Question Id : 7532295080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

General Awareness
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Online
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20
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Justice N.V. Ramana was on April 2021 sworn in as the Chief Justice of India (CJI).
Options :
1. % 45th
2. % 47th
3. ¥ 48th
4. % 50th

Question Number : 21 Question Id : 7532295080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 45

2. % 47d

3. 484

4. % 50d

Question Number : 22 Question Id : 7532295081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first chairperson of the Lokpal?
Options :

1. # Shri Justice Ranjan Gogoi

2. % Shri Justice Pinaki Chandra Ghose

3. * Sri Justice Arun Mishra

4. % Sri Justice Vikram Nath -

Question Number : 22 Question Id : 7532295081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AHUTd & YuH el Fafafea § o &

Options :



1. % oft ey 399 s
2. ¢ St e fUrent 9% 9y
3. % oy grgedier areur fisn
4. % g g faspy A1y

Question Number : 23 Question Id : 7532295082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following launched the POSHAN Abhiyaan that directs the attention of the country towards the problem of malnutrition and
address it in a mission-mode in 2018?

Options :

1. ¥ Sri Narendra Modi

2. #% Smt.Smriti Irani

3. % Sri Ramesh Pokhriyal

4. % Smt. Nirmala Sitharaman

Question Number : 23 Question Id : 7532295082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ A R= A

2. % iy wfa <l

3. % o XU URgiATed!

4. % et e Sarao

Question Number : 24 Question Id : 7532295083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following is the first Indian Prime Minister to preside over UNSC meeting?
Options :



1. * Indira Gandhi

2. # LK.Gujral

3. ¥ Manmohan Singh
4. ¥ Narendra Modi

Question Number : 24 Question Id : 7532295083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gfeRr gt

2. % 3f5.%. ORI

3. % THIEH R

4. ¢ g AQ

Question Number : 25 Question Id : 7532295084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uchhatar Avishkar Yojana (UAY) was announced in , with a view to promoting innovation of a higher order that directly impacts the
needs of the Industry and thereby improves the competitive edge of Indian manufacturing.

Options :
1. % 2014
2.9 2015
3. % 2016
4. % 2017

Question Number : 25 Question Id : 7532295084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % 2014
2. % 2015
3. % 2016
4. % 2017

Question Number : 26 Question Id : 7532295085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian scientist introduced Sixth Sense — wearable gestural computing technology to the world in 2009?
Options :

1. ¥ Pranav Mistry

2. * Shinjini Kundu

3. # Dinesh Bharadia

4. # Jagdish Chaturvedi

Question Number : 26 Question Id : 7532295085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Yurq fere!

2. % RiSHI &g

3. % oA yRfSar

4. % ST Iqdd]

Question Number : 27 Question Id : 7532295086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has been honoured with the Scientific and Engineering Academy Award at the Oscars Scientific and Technical Awards
2018 at Beverly Hills in Los Angeles, California?

Options :
1. # Shiva Ayyadurai



2. ¥ Vikas Sathaye
3. #* Anil Kakodkar

4. % Subramaniam Ramadorai

Question Number : 27 Question Id : 7532295086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 29 ragRs
2. ¢ fdHT QU

Question Number : 28 Question Id : 7532295087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which district among the following had the highest average literacy rate as per the Census 2011?
Options :

1. # Champhai

2. % Mahe

3. # Kottayam

4. % Serchhip

Question Number : 28 Question Id : 7532295087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JUpTS




2. % HAlg
3. % Plggd
4. ¢ ST

Question Number : 29 Question Id : 7532295088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Tribal Health and Nutrition Portal has been launched by the name of by Ministry of Tribal Affairs in August 2020.
Options :

1. ¥ Swasthya

2. % Alekh

3. % Poshan

4. # Takat

Question Number : 29 Question Id : 7532295088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ WY

2. % 3T

3. % Uyu

4. % dlbd

Question Number : 30 Question Id : 7532295089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian Air Force and the Air Force of which other country participated in the Ex Desert Knight-21 drill between January 20 to 24 in 2021?
Options :

1. ¥ USA

2. % UK



3. % France
4. % Serbia

Question Number : 30 Question Id : 7532295089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR arg 7 SR {5 3= <=1 Pt AT T1 7 20 24 SHAR, 2021 & S TR Soic A1ge-21 f&a & ymr feram
Options :

1. % 3HRPI

2. % foreq

3. ¢ I

4. % gfchar

Question Number : 31 Question Id : 7532295090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Defence Research and Development Organization established?
Options :

1. % 1947

2. % 1952

3. % 1956

4. ¥ 1958

Question Number : 31 Question Id : 7532295090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 ST Td [9® T W16 (DRDO) B RITIAT o a8 g5 ot
Options :

1. % 1947

2. % 1952

3. % 1956



4.4 1958

Question Number : 32 Question Id : 7532295091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is an indigenously developed rocket launched from a Multi-Barrel Rocket Launcher (MBRL)?
Options :

1. # NAITIKA ROCKET

2. ¥ PINAKA ROCKET

3. % PITARA ROCKET

4. ¥ SHAKTI ROCKET

Question Number : 32 Question Id : 7532295091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 ¥ o9 1 Aec)-aRd Jdbe <R (MBRL) §RT @l fabdT a7 Taeeft e g2
Options :

1. % e e

2. ¢ fUHTBT b

3. % fUCRIIbe

4. % Qfaq e

Question Number : 33 Question Id : 7532295092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The was India's first indigenously developed ballistic missile produced by the Integrated Guided Missile Development Program
(IGMDP).

Options :
1. ¥ Prithvi
2. % Agni
3. # Akash
4. ¥ Vayu




Question Number : 33 Question Id : 7532295092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, HRd & Ugal! faefyd wexf sfafes g Ot SR $é9ies mees fiarsd Saaudic UM (1IGMDP) gRT §-1T 7137 4|
Options :
1. ¢ gl
2. % 3y
3. % HIPIRI
4. % dig

Question Number : 34 Question Id : 7532295093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
India's first indigenous is, IAC-1.
Options :

1. ¥ Aircraft carrier

2. # Rocket Launcher

3. % Missile Launcher

4. % Nuclear Warhead

Question Number : 34 Question Id : 7532295093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR BT Ugal Wi IAC-1 ]
Options :

1. ¢ TORGPIUT BRI

2. % [T AR

3. % foTed di=R

4. % YRTR IRGS



Question Number : 35 Question Id : 7532295094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Hindu Calendar ‘Hemant Ritu’ will fall in which period?
Options :

1. # January-March

2. % Mid July-September

3. ¥ Mid October-December

4. % April-June

Question Number : 35 Question Id : 7532295094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feg g & 3R 3Hd Hg 59 safd I ot 32
Options :

1. % SHR-A™

2. % Ay JATs-RideR

3. ¥ A JFCeR-fedaR

4. % 3MA-SH

Question Number : 36 Question Id : 7532295095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following state is located in the Western Himalayas?
Options :

1. % Arunachal Pradesh

2. # Nagaland

3. ¢ Uttarakhand

4. % Mizoram

Question Number : 36 Question Id : 7532295095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafead # Q o19-91 e ufEnd ferre § R R2
Options :

1. % 30T U™

2. % RIS

3. ¥ IS

4. % fIGIRA

Question Number : 37 Question Id : 7532295096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which state will you find the rivers Lahen, Lachung, Rangit and Rangpo?
Options :

1. ¢ Sikkim

2. % Jharkhand

3. % Assam

4. # Chhattisgarh

Question Number : 37 Question Id : 7532295096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oy I B ST ATe, AT, AT SR STt At ficite
Options :

1. ¢ RifapH

2. % IRYS

3. % 34H

4. % FNTE

Question Number : 38 Question Id : 7532295097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which year was the first census of independent India done?
Options :
1. % 1947
2. % 1949
3.9 1951
4. % 1954

Question Number : 38 Question Id : 7532295097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WGdd YR $1 Ugalt ST fbd ay gs e
Options :

1. % 1947

2. % 1949

3.9 1951

4. % 1954

Question Number : 39 Question Id : 7532295098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per ‘Household Social Consumption: Education in India as part of the 75th round of National Sample Survey — from July 2017 to June
2018’ is the most literate state in India.

Options :

1. # Goa

2. % Sikkim
3. ¥ Mizoram
4. ¥ Kerala

Question Number : 39 Question Id : 7532295098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QTS 2017 W A 2018 T AP THAT FA&UI & 75 d GR & 38 & T H gUUIRGTRS FHISID IUHIT: HRd H fRam & IR



YR BT T IR I ¢ |
Options :

1. % Tar

2. % Rfepy

3. % fIeiRA

4. ¥ I

Question Number : 40 Question Id : 7532295099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where in India was the headquarters of The Theosophical Society established in India in the year 18827
Options :

1. # Calcutta

2. ¥ Madras

3. % Lucknow

4. % Delhi

Question Number : 40 Question Id : 7532295099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 1882 H YRA H RIUT Rifthdd Tmad! &1 JeIad HRd § &gl U2
Options :

1. # dcIpdl

2. ¥ Halq

3. % TGS

4. % ool

Arithmetic Ability

Group Number : 3
Group Id : 753229267



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Arithmetic Ability

Section Id : 753229267
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229322
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532295100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While calculating the average marks of 40 students of a class, marks of three students who actually scored 18 marks
were noted as 28 by mistake. After correcting the error, the average of marks will reduce by

Options :
1 % 0.9

5 & 0.75



3 % 0.6

Question Number : 41 Question Id : 7532295100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forf HefT & 40 BT & 2T 2fh D1 TUFT B GHY, IF BHET & 2ih forgi- arad H 18 21 2ifold T o, erdt
Y 28 3feh foRa fe1u 7Y | e B 8l DRl & ale, bl T 3Hd {1 HH gl SIg?

Options :

1. % 09

2 o 0.75
3 % 0.6

4 % 025

Question Number : 42 Question Id : 7532295101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the single discount equivalent to series of discounts of 10%, 15% and 18%.
Options :

| % 62.73%



4 % 14.33%

Question Number : 42 Question Id : 7532295101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10%, 15% 3R 18% &1 th1HP BT &b SR U BE J1d DI
Options :
% 62.73%

Question Number : 43 Question Id : 7532295102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of an article is 5200. Two successive discounts of 10% and 20% are offered on it due to season end.
At what price is the article available to customers?

Options :
1. % 23690

5« 33744



Question Number : 43 Question Id : 7532295102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forelt a%q o1 Sifdrd Hed 25200 B | IS BT 37d B & HRUIIH W 10% R 20% BI &l Bt T & Sl o
| o (AL a3 [ Pl R 3UTH 82

Options :
1. % 23690

2. v 744

Question Number : 44 Question Id : 7532295103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper offers a discount of 12% on a TV and sells it for 261600. What is the marked price (in Rs) of the TV?
Options :

| % 68500

» % 69000

3« 70000

4 % 72500



Question Number : 44 Question Id : 7532295103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aﬁégcbﬁcu{ qqoﬁﬁq?lg%aﬁﬁﬁﬂ% AR IY 261600 HET AT & | <Idl &1 sifbd e (2 ) foeaAr g2

Options :
1. ® 068500

5 % 69000

3« 70000

4 % 72500

Question Number : 45 Question Id : 7532295104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B scored 440 and 520 marks respectively in an examination. If A scores 55% marks. find the percentage of marks
scored by B.

Options :
1.« 65%
) % 64.5%
3 % 064%
4. % 62%

Question Number : 45 Question Id : 7532295104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A 3R B A (Y] G& T HHRE: 440 3R 520 3P 3Hfoid BT G A 7 550 2l 31fold fbe, a1 B A fava wia=id
3 3ffoid b T
Options :
1.« 63%

5 ® 64.5%
3 % 64%
4 % 62%

Question Number : 46 Question Id : 7532295105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anita scored 72% marks out of 600 marks in an examination. She scored 42 marks more than Shailja. Find the
percentage of marks scored by Shailja.

Options :
1 #® 60%

5 ® 62.5%
3 & 65%
4 % 66%

Question Number : 46 Question Id : 7532295105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fep i otedt # i = 600 2febl & F 729 2ieh 3ifoid T I Yo 42 2 3ifep 21foid fbT | eroim = febef
giaerd 3id dfold fhuo

Options :

| % 60%

) # 062.5%
3 o 65%
4 % 66%

Question Number : 47 Question Id : 7532295106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Abhay scored 79% marks and Joseph scored 83% marks in an examination. If difference in their marks is 32, then what
are the maximum marks of the examination?
Options :

1. % 750

5 & 800
3 % 850

4 % 900

Question Number : 47 Question Id : 7532295106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tl ORte § 31T o 799 3fh 3R S  83% 3 Hfoid BT G Id bl &I AT 32 8, Al Wiel &
HYHaH 3 o g2

Options :

1. % 750

5 & 800
3 % 850
4 % 900

Question Number : 48 Question Id : 7532295107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sold an item for Z56 at a profit percent equal to the cost price. What is the cost price?
Options :

1. % 38

5 & F40
3 % 385
4 % F42

Question Number : 48 Question Id : 7532295107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ush GPaR A fhdl 9¥d Bl Y Hed & sRISR ATH UidId W 256 H 9011 Y Hed fehe1 32




Options :
1 % 338

5 & %40
3 % 3385

4 % T2

Question Number : 49 Question Id : 7532295108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sells two pen drives for 1140. The cost price of the first is equal to the selling price of the second pen
drive. If he sells the first pen drive at 10% loss and the second pen drive at 20% gain, then what is his gain or loss
percent? (correct to one decimal place)

Options :
| % 3-2% profit
, % 3.5% profit

3« 3.6% profit

4 % 3.5% loss

Question Number : 49 Question Id : 7532295108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Uch GHIMGR &l U1 S15d Bl 21140 H 9901 & | U U S13d &1 Y Hed G U S1%d & (9 Jed & sRIER 5|
gl 98 Ugal U S15d @l 10% BIf IR 3R 81 U1 154 DI 20% WY W §9dl &, ol 39! A1y 1 81 Wia=id
fareT 82 (GRHTd & U &I dd Hal)

Options :

| % 3.29% T

7 % 3.5% CTH

3 @ 3.6% TTH

4 % 3.5%8IH

Question Number : 50 Question Id : 7532295109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul calculates his profit on the cost price whereas Sushil calculates it on the selling price. They find that the
difference in their profits is ¥80. The selling prices of both of them are the same and both of them get 20% profit. Find
their selling price.

Options :
1. % 32200
) % 3225

3 % 32275

4 2400

Question Number : 50 Question Id : 7532295109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

RIGT S0 1Y 1 UM Y el U 6l & olaid R S8 U [dehd T TR &Rdl ¢ | 9 UTd g fob 31ds @y
T 280 BT 3R &1 TFI & 3558 T THH B AR SHI B 20% HT AT Bl & | 371 [ashd Jed I1d Hifor|

Options :
1. ® 2200

5 ® 32250

3 & ¥2275

4 @ 32400

Question Number : 51 Question Id : 7532295110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain sum of money is divided among A, B and C such that for each 100 rupees of A, B has 60 rupees and C has 25
rupees. If C's share is ¥280, then find the sum of money.

Options :

1. ® 2000
> # 2050
3 #® 2060
4.« 32072

Question Number : 51 Question Id : 7532295110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o FEa IR P A, BIRcHSUUSR fAHISA P A 8 b A UdPH 2100 H T B B T 260 AR C H
UM 225 81| IfG ¢ o1 [E¥aT 2280 B, T1 98 AR I Hifod |

Options :
1. #® 2000

5 ® 32050
3 % %2060
4 & 32072

Question Number : 52 Question Id : 7532295111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of income of A and B last year was 2 : 3. Ratios of their respective income of last year and this year are 3 : 4
and 4 : 5 respectively. If the sum of their present incomes is 259136, then find the present income of A.

Options :

1. ® 24000
7« T24576
3. ® 25000
4 % 25750

Question Number : 52 Question Id : 7532295111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e Oy A 3R B &1 31 & J41d 2:3 1| {USd I8 2R 549 T4 FI 390! FeUd 41 BT ATU1d HH: 3:4 3R
4:5 5| OfS I%! TAHM 19 BT TN 259136 B, O A DI GAHM T J1d HIfoMT|

Options :

Lia 24000

, & 324576
3 % 25000

4 % ¥25750

Question Number : 53 Question Id : 7532295112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratio of acid and water in solution A is 2 : 3 and that in solution B is 4 : 5. In what ratio the two solutions are mixed so
that the new solution has acid and water in the ratio 3 : 47

Options :

1. % 5:8

[E]

7 % 1:

rn
o

3.¢

Question Number : 53 Question Id : 7532295112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faeraT A T 2% 3R STl T U 2 : 3 § AR [GT0H B H 3 3R O B UId 4 : 5 ¢ | &IF! faeaHl &l oy
SaTd o e ST g fob -1U faeraq o ofi 37R Ofe &1 SFUId 3 : 4 812

Options :

1. % 5:8

[E]

) % 1:

N
o

3.¢

Question Number : 54 Question Id : 7532295113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B can do a piece of work in 9 and 12 days respectively. How many days will they take if they both work
together?

Options :
1. % 35

Lk
. | [

2. ¢

W
®
LA
[

L

>
®
b | a2

Question Number : 54 Question Id : 7532295113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A 3R B U &1 &I HHE: 9 3R 12 &7 H R IR Gl ¢ | 4G d GH1 Th T4 1Y & Al 35 B YR & |
fare fet wrr

Options :

] ® 5

Lk
-l I [a—

W
$3
L
[

L

ha
®
g | L

Question Number : 55 Question Id : 7532295114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C are three pipes connected to a water tank. Pipes A and B together can fill the tank in 12 hours. Pipes B and C
together can fill the tank in 15 hours. If pipes A and C together can fill the tank in 20 hours. then in how much time will
pipe C alone fill the tank?

Options :
1. % 55 hours
> % 58 hours 30 minutes

3 % 59 hours 45 minutes

4.« 60 hours



Question Number : 55 Question Id : 7532295114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MUY A, B 3R ¢ U U &1 ¢l A 9ol & | UI5T A 3R B fAH ¢ Bl 12 he H HR Gbdl 81 UIFU B 3R €
AR & Bl 15 hr § HR Thdl ¢ | I1C UISY A 3R ¢ TS ¢ Dl 20 hr § HY Tl &, l UISY C 3fhd ¢ Bl
fhe THT | HP

Options :
1. # 55 hr

> % 58 hr 30 min
3 % 59 hr45 min
4. & 60 hr

Question Number : 56 Question Id : 7532295115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two persons A and B undertake to do a piece of work for 4900. A alone can do it in 8 days while B alone can do it in
10 days. With the assistance of another person C they finished the work in 4 days. What is the share of B?

Options :
1. ® 1920
7 % <1950

3 @ Z1960



4 % T1975

Question Number : 56 Question Id : 7532295115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l i A 3R B B B Bl 24900 H G B BT SHI T B 1 A 3Hhall 3U 8 f&T H B Foboell B Slalfb B (bl
5Y 10 G H R Tohdl 8 | U 30 G ¢ P Teraal § 32+ o &l 4 &7 § 1 3= fean| B &1 feww fban g2

Options :
1. ® 1920

5 % ¥1950
3« Z1960

4 % %1975

Question Number : 57 Question Id : 7532295116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 men and 18 women can do a work in 6 days. 36 men and 12 women can do the same work in 3 days. How many days
are required for 15 men and 25 women to do the same work?

Options :

3

[

1. #®



b
®
N

Question Number : 57 Question Id : 7532295116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TN AR 18 AW [l &1 Dl 6 &7 H T B Ghd &1 36 T2V R 12 AT I B &l 3 6T 5 R aR
Hohdl § | 3! B Bl A b (01 15 GO 3R 25 Alaradl oI e Gl i SHaxgesdl gl

Options :

3

[

1. #

2.¢ 4

Question Number : 58 Question Id : 7532295117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two persons are walking in the same direction at the speed of 3 km'h and 5 kmv'h respectively. If a train moving in the
same direction overtakes them in 20 and 21 seconds respectively, then find the length of the train (in m).

Options :

L % 220

2201
2

2. ®



3 % 225

233—
4.9

Question Number : 58 Question Id : 7532295117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l G U ol G2 H IR 3 kmvh 3R 5 km/h BT 916 U 90 g | Afe 34 o= & Faicil 63 U Sarlel 3¢
HHTT: 20s AR 21 s H IR B! 8, Al ITHTS] DI Aalg (m H) Fd B

Options :
1 % 220

4.9

Question Number : 59 Question Id : 7532295118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat covers 32 km upstream and 36 km downstream in 7 hours, while it covers 48 km upstream and 24 km
downstream in 8 hours. Find the speed of the boat in still water (in km/h).

Options :



Question Number : 59 Question Id : 7532295118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 19 HidHare fe= o 32km 3R SIHATE fG=0 H 36km B &3 7he H 79 6l 6, Said Ig Wfaware fG=MH 48km
R SvaTg fE=TH 24km b1 G she H T B 81 B8 Ot H G BI MW (knh H) 1 BT |

Options :

] % 8
) #% 9.2
3.« 10

4 % 105

Question Number : 60 Question Id : 7532295119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of (4.5 x 4.5 x 4.5 x 4.5)+ 225+ 25+ 5% is:
Options :

1 % 128.0528



5 & 125.0729
3 % 124.0829

4 % 125.0739

Question Number : 60 Question Id : 7532295119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(4.5 x 4.5 x 4.5 x 4.5)+ 225 +25+ 53 B[ HIH Tl aiﬂ %[DJ

Options :
1 #® 128.0528
7 « 125.0729
3 #% 124.0829
4. % 125.0739
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Question Number : 61 Question Id : 7532295120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

I was born in state of Uttarakhand in north India.

Options :

I.* a

2. % an

3. ¥ the

4. % No Article

Question Number : 61 Question Id : 7532295120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.



I was born in state of Uttarakhand in north India.
Options :

1. % a

2. % an

3. ¥ the

4. % No Article

Question Number : 62 Question Id : 7532295121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

We dressed the little girl as Indian gypsy.
Options :

1. * a

2. % an

3. ® the

4. % No Article

Question Number : 62 Question Id : 7532295121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

We dressed the little girl as Indian gypsy.
Options :

1. % a

2. % an

3. % the

4. % No Article

Question Number : 63 Question Id : 7532295122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

My folding umbrella couldn’t shield me from heavy downpour.
Options :

1. % a

2. % an

3. ¥ the

4. # No Article

Question Number : 63 Question Id : 7532295122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

My folding umbrella couldn’t shield me from heavy downpour.
Options :

1. % a

2. % an

3. ¥ the

4. % No Article

Question Number : 64 Question Id : 7532295123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

With good teaching, dyslexics can eventually learn to read, but they often read more slowly then others.

Options :
1. # dyslexics
2. % eventually
3. % often
4. ¥ then



Question Number : 64 Question Id : 7532295123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

With good teaching, dyslexics can eventually learn to read, but they often read more slowly then others.

Options :
1. #* dyslexics
2. * eventually
3. * often

4. ¥ then

Question Number : 65 Question Id : 7532295124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

Close fisted
Options :

1. ¥ Miser

2. % Spendthrift
3. # Generous

4. % Powerful

Question Number : 65 Question Id : 7532295124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

Close fisted
Options :
1. ¥ Miser



2. # Spendthrift
3. #* Generous
4. % Powerful

Question Number : 66 Question Id : 7532295125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct one word substitution of the given sentence from the options given below:

A woman's handbag in earlier days was called as
Options :

1. # Holdall

2. ¥ Reticule

3. % Backpack

4. % Wallet

Question Number : 66 Question Id : 7532295125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct one word substitution of the given sentence from the options given below:

A woman's handbag in earlier days was called as
Options :

1. % Holdall

2. ¥ Reticule

3. % Backpack

4. % Wallet

Question Number : 67 Question Id : 7532295126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.



She spoke /so soft/ that we could / hardly hear her.
Options :

1. % She spoke

2. ¥ 50 soft

3. # that we could

4. # hardly hear her

Question Number : 67 Question Id : 7532295126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

She spoke /so soft/ that we could / hardly hear her.
Options :

1. # She spoke

2. ¥ 350 soft

3. # that we could

4. # hardly hear her

Question Number : 68 Question Id : 7532295127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Anu said to her mother, / “Please don’t buy/ the expensive bags, /buy the cheaper one’s.”
Options :

1. # Anu said to her mother

2. # Please don’t buy

3. # the expensive bags

4. ¥ buy the cheaper one’s

Question Number : 68 Question Id : 7532295127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Anu said to her mother, / “Please don’t buy/ the expensive bags, /buy the cheaper one’s.”
Options :

1. # Anu said to her mother

2. # Please don’t buy

3. # the expensive bags

4. ¥ buy the cheaper one’s

Question Number : 69 Question Id : 7532295128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

I do not/ like to laugh/ above his/ silly jokes.
Options :

1. # Ido not

2. # like to laugh

3. % above his

4. # silly jokes

Question Number : 69 Question Id : 7532295128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

I do not/ like to laugh/ above his/ silly jokes.
Options :

1. # I do not

2. # like to laugh

3. % above his

4. # silly jokes



Question Number : 70 Question Id : 7532295129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

Although it was/ very cold outside / even we went/ for a walk.
Options :

1. # Although it was

2. # very cold outside

3. ¥ even we went

4. % for a walk

Question Number : 70 Question Id : 7532295129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

Although it was/ very cold outside / even we went/ for a walk.
Options :

1. % Although it was

2. % very cold outside

3. ¥ even we went

4. % for a walk

Question Number : 71 Question Id : 7532295130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the underlined idiom in the given sentence.

What the speaker said was all stuff and nonsense.

Options :
1. ¥ Absurd



2. ®* Effective
3. # Relevant

4. ¥ Impressive

Question Number : 71 Question Id : 7532295130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the underlined idiom in the given sentence.

What the speaker said was all stuff and nonsense.

Options :

1. ¥ Absurd
2. % Effective
3. # Relevant

4. % Impressive

Question Number : 72 Question Id : 7532295131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate idiom. The meaning of the idiom is given in brackets for guidance.

The detective didn’t realize that he was (making a mistake) the wrong tree by falling prey to the wrong version of the story.
Options :

1. #® climbing down

2. % barking up

3. # barking down

4. % climbing up

Question Number : 72 Question Id : 7532295131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate idiom. The meaning of the idiom is given in brackets for guidance.



The detective didn’t realize that he was (making a mistake) the wrong tree by falling prey to the wrong version of the story.
Options :

1. #® climbing down

2. % barking up

3. # barking down

4. % climbing up

Question Number : 73 Question Id : 7532295132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the one-word substitute for the underlined group of words in the given sentence.

Today’s board meeting was going to be a long one. I saw the secretary placing a long list of items to be discussed during the meeting on his table.
Options :

1. ¥ Agenda

2. # Schedule

3. # Timetable

4. ® Status

Question Number : 73 Question Id : 7532295132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the one-word substitute for the underlined group of words in the given sentence.

Today’s board meeting was going to be a long one. I saw the secretary placing a long list of items to be discussed during the meeting on his table.
Options :

1. ¥ Agenda

2. % Schedule

3. % Timetable

4. % Status

Question Number : 74 Question Id : 7532295133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the correct ANTONYM of the given word.

FOOLISH
Options :

1. ¥ Wise

2. % Absurd
3. % Graceful
4. # Simple

Question Number : 74 Question Id : 7532295133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct ANTONYM of the given word.

FOOLISH
Options :

1. ¥ Wise

2. % Absurd
3. % Graceful
4. # Simple

Question Number : 75 Question Id : 7532295134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is closest in meaning to the word given below:

Recondite
Options :

1. # Conspicuous
2. ¥ Concealed
3. # Palpable

4. % Responsible



Question Number : 75 Question Id : 7532295134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is closest in meaning to the word given below:

Recondite
Options :

1. * Conspicuous
2. ¥ Concealed
3. % Palpable

4. % Responsible

Sub-Section Number : 2
Sub-Section Id : 753229324
Question Shuffling Allowed : Yes

Question Id : 7532295135 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

In the following passage some words have been deleted. Fill in the blanks with the most suitable option. Choose the most appropriate option for
each number.

The government has plans to set up a mobile phone manufacturing company in my town. It will (1) as many as 2000 jobs across the
country. The company (2) is due to start production early next year will (3) employment to 1500 people in its factory. Later, when
the company begins operations in other (4) of the country, there will be more employment (5) for young people.

Sub questions

Question Number : 76 Question Id : 7532295136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 1.
Options :

1. ¥ create

2. % make



3. # start

4. % discover

Question Number : 77 Question Id : 7532295137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 2.
Options :

1. # who

2. ¥ which

3. % what

4. % where

Question Number : 78 Question Id : 7532295138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 3.
Options :

1. #* contribute

2. % serve

3. % arrange

4. ¥ provide

Question Number : 79 Question Id : 7532295139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 4.
Options :

1. % units

2. ¥ parts

3. * models

4. % divisions



Question Number : 80 Question Id : 7532295140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 5.
Options :

1. % courses

2. % moments

3. % opportunities

4. * connections

Question Id : 7532295135 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No
Question Numbers : (76 to 80)

In the following passage some words have been deleted. Fill in the blanks with the most suitable option. Choose the most appropriate option for
each number.

The government has plans to set up a mobile phone manufacturing company in my town. It will (1) as many as 2000 jobs across the
country. The company (2) 1s due to start production early next year will (3) employment to 1500 people in its factory. Later, when
the company begins operations in other (4) of the country, there will be more employment (5) for young people.

Sub questions

Question Number : 76 Question Id : 7532295136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 1.
Options :

1. ¥ create

2. % make

3. % start

4. % discover

Question Number : 77 Question Id : 7532295137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the most appropriate option to fill blank no. 2.
Options :

1. ¥ who

2. ¥ which

3. % what

4. % where

Question Number : 78 Question Id : 7532295138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 3.
Options :

1. % contribute

2. % serve

3. #® arrange

4. ¥ provide

Question Number : 79 Question Id : 7532295139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 4.
Options :

1. % units

2. ¥ parts

3. ¥ models

4. % divisions

Question Number : 80 Question Id : 7532295140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to fill blank no. 5.
Options :

1. # courses



2. * moments
3. % opportunities

4. ¥ connections
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Question Number : 81 Question Id : 7532295141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HHEIY- HRb Uhdd ‘g qdl’ b1 Ug! sgaa- gl
Options :

1. ¢ g &fadl

2. * g afaa

3. ® gafaan

4. % gafaaf

Question Number : 81 Question Id : 7532295141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1Y HRP Thdd- g ¢dl’ P Ug! dgda- gll-
Options :

1. ¥ g afaa

2. % g afaul

3. ® gafasn

4. % gofasfl

Question Number : 82 Question Id : 7532295142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PRI TF T HIST BRIQT | A & JQifobd 3= D [ faded ¥ y1iid forar o wear g2
Options :

1. #® IS db

2. ¥ I HR

3. % TS HXT

4. % RIS

Question Number : 82 Question Id : 7532295142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YR A UD T HIST BRIGT | A & 3@ifobd 3= D o faded I U1 foa S weva g2
Options :

1. % T b

2. ¥ TS W

3. % TS W]

4. % RIS

Question Number : 83 Question Id : 7532295143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9 &F 91 a1 THaaT BT 62
Options :

1. ¥ ERIWR A

2. % UH 3R R gER A |

3. % WA & 3P qrl g |

4. % Y MU

Question Number : 83 Question Id : 7532295143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed # § & 91 a/e Thaa H15?
Options :

1. ¢ SR TRR A |

2. % U1 3R gR R I I &

3. % WA & 3P ardl g |

4. % Y AU G|

Question Number : 84 Question Id : 7532295144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I DI 2P Y DI 1 a1 3IR[S §7




Options :

1. # g TS H3f 1S 5d &1 78! sral
2. ¢ TUHT G g3l

3. % 3P 36 G |

4. % 319 ¥ A FPpd|

Question Number : 84 Question Id : 7532295144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T B = W D I I LS 82
Options :

1. % B UPH H3T 11 &Td BT T8 eIl
2. ¢ 3UHT G ol

3. % 3P 36 WGdl |

4. % 3199 g FFa|

Question Number : 85 Question Id : 7532295145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg fasbed & Tt Treg vafaar &2
Options :

1. % I, Ufed, &R

2. % 3T, HiF, I

3. % MR, Y, d@

4. ¢ TG, gd, §cT

Question Number : 85 Question Id : 7532295145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g famen & Tt reg yafuar g2

Options :



1. % I, Ufed, &R
2. % 3TH, HiH, I
3. % 9R, U4, 0%
4. ¢ TG, gd, &l

Question Number : 86 Question Id : 7532295146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR &1 facH 2eg BT -

Options :

1. # 3TRDI

2. % V[dld

3.  CI&omE

4. % giyH®HT

Question Number : 86 Question Id : 7532295146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRV &7 fAd 2eg; 1 -

Options :

1. # 3TRPI

2. % dld

3. ¢ &I

4. % UigHAPBT

Question Number : 87 Question Id : 7532295147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 3 b gera 1 31 e Yy g B
Options :

1. ® YT



2. % 3T
3. ¢ UG
4. % 3fgrfeaAr

Question Number : 87 Question Id : 7532295147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & A g qeTa’ 1 31 fa3e yw g B
Options :

1. % 3T

2. % YTFAMT

3. ¢ ST

4. % 3T

Question Number : 88 Question Id : 7532295148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

He<aqul B, FHeTad, TfY 1S B Igyd B4 # o iR fug w1 wam gar 22
Options :

1. % SHERISGR 5

2. ¥ GEISSR g

3. % Uy g

4. % fqETiealys g

Question Number : 88 Question Id : 7532295148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

He<aqul S, FHETad, Wi 1S B Igyd B H {5 favm g &1 v grar 82
Options :

1. * PRSI 5

2. ¥ GEISUI g




3. % JYarasd g
4. % [qEieaiy® g

Question Number : 89 Question Id : 7532295149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad § HH-a1 are Reanie giuesT Ieerug -
Options :

1. ¢ I fea g ST gl
2. % UG 9 @l
3. % GEICI UR PR bl g |

4. % G BREIBNI

Question Number : 89 Question Id : 7532295149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafead # ®F-a1 i e giieT Jeru e -
Options :

1. ¢ T f3=Ta I ST g |

2. % gATE IS W1

3. % GG UR PR ABAT 5 |

4. % G BREIBNI

Question Number : 90 Question Id : 7532295150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgct o fopareil & e foba i g1d &2
Options :
1. % dH
2. % IR
3.¥ U



4, % 9

Question Number : 90 Question Id : 7532295150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 3 ol et fope o 82 22
Options :

1. % dF

2. % IR

3. ¢ Uih

4. % &

Question Number : 91 Question Id : 7532295151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=0T ST 81 & forw Hafferer Suged geTarT 6 -
Options :

1. ¢ B IGAT

2. % IRl IR T

3. % TG qieT

4. % 2N 3SHI

Question Number : 91 Question Id : 7532295151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Td=or T 31 & fore waifie Iugad YeTavl § -
Options :

1. ¢ 3fPHRI TG

2. % Il OR =1

3. % TN ST

4, ® THT ISMT




Question Number : 92 Question Id : 7532295152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3faefa BT T e P AT R?
Options :

1. # Sfigufa

2. % TG

3. %49

4. gMF

Question Number : 92 Question Id : 7532295152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3" BT JAMT eq B 182
Options :

1. % Staufd

2. % ST

3. %94

4. gMH

Question Number : 93 Question Id : 7532295153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRHEID U4 HT I8 B-
Options :

1. % g ded TR

2. % GAUG YD &

3.« 3 I8 Ugd & |

4. % I HI oI I 3 g7 AT



Question Number : 93 Question Id : 7532295153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RYAP T BT ICTE 6-
Options :

1. * fig el el 8

2. % GHUG YD &

3. 3G 98 Ug Mg |

4. % 37 JHY oI Igd R 8T AT

Question Number : 94 Question Id : 7532295154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g gd fe=n & 3fed gar g 1" aread uer 3-
Options :

1. ¢ Fdrlde ug

2. % HIIIeYD Uef

3. % SRHEIdD Ugf

4. % TN &l

Question Number : 94 Question Id : 7532295154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O gd fo=m & 3fed S 8 1 ared e 3-

Options :

1. ¢ FadRas gg
2. % eIy g8
3. % RYIdD T8
4. % TEIfALa® uef

Question Number : 95 Question Id : 7532295155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Prffad & O g area # fsar sraT YT &1 gyl &1 a1y 8l 38T 8-
Options :

1. ¢ QI U d3T T8l S|

2. % YT U ferar|

3. % Y 3! A USdl g

4. % Hom P foru v 71 78 HRan|

Question Number : 95 Question Id : 7532295155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa o § fog areg & fosar 31T HIg &1 Uuar &1 91y 81 38T 6-
Options :

1. ¥ O I doT 781 S|

2. % Y7 UF ferar|

3. % QO s TP TSl B

4. % U & forg Hff 71 71 Hrar|

Sub-Section Number : 2
Sub-Section Id : 753229326
Question Shuffling Allowed : Yes

Question Id : 7532295156 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

IR TR BT 3R B 3R A feu MU Uy & IR S|

S BT I Uh T§W § | 98 Pic oo g b+ 07 8t @ o I8 ST 8) 997 95 | TR 59 IR Id 384 3 39P Vel I uef 33T
Wi 81 3NMYFIH T H S Y&H qUT D THT J I SUHR0] Joifd [aaeon § | 1Nfdsed & TR STshR g6 34 faya-ig
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Sub questions

Question Number : 96 Question Id : 7532295157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<Y TR BT Juged s T g
Options :

1. % St bl oM

2. % fafd b1Ed

3. ¢ Slidq B8
4. % Topid BT UHTT

Question Number : 97 Question Id : 7532295158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Forafa & g1y &1 RIAHT — S9HT 1 arad 82
Options :

1. % HIGHT W

2. ¢ UHTd & 3N G T DAl

3. % Fafd & g1y {9 S

4. % YPpid I U1 G ST

Question Number : 98 Question Id : 7532295159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3nyfe g & faeerr @ 82

Options :

1. % Sla & G- DI HFHT DAl

2. ¥ 3Td G&H 3R IMMAE SMHe I T4 JUBRT
3. % UPpid q 94 IUBRI

4. % 3JAFND MHA J Tdd STHRU]




Question Number : 99 Question Id : 7532295160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PHI-91 Yeg fdae! Tary ardt 82
Options :

1. ¥ QChRI

2. % 3fNllq

3. % Hpd

4. % 3fHq

Question Number : 100 Question Id : 7532295161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B 81 & FTA9IG [ ST ST Tl 87
Options :

1. % 3YF & g o faaRl &1

2. ¢ Slia- & IgHY 3239 B

3. % YIfAHRA & SMAHR! B

4. % UPpid &b UYd Bl

Question Id : 7532295156 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

IR TR BT 3R B 3R A1 feu MU yy & IR S|

SfiaH o1 35T U Y6V ¢ | T8 Bio o g b 1 LT 181 & o I ST 81 =19 Wb | TRITAR $9 TR Arad 36 9 9% Yal ¥ Ual 387
Wt 81 Sy g icdd e qUT IS SAHTH e F I SUH] T e § | Hifdwd & TR SfashR gH 3 gz
U] T THN ¢ 38 &, o1 4 Siid Teb! SAd -1 o1 YTl ¢ | TAfcT TR SUHRON, I0TATIAT T4T Wioll & STaeig Gl ol & b 84
3naft oft Fraafares g1 &1 RIAHT 81 81 81 Siu=it Fafa o T8l & UTd | Uehfd 89 IRETAT 81 81 Sd 3T SRIgHI Ay &Rd ¢ | 8 UPpid &
Y@ ¥ Gfad U 81 91T 3R 3 UM & fore g8 Us el I ad &1 g |

Sub questions

Question Number : 96 Question Id : 7532295157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2 TR &1 SUgad X¥E FT AT
Options :

1. % Sfiq ot JUEITA

2. % fafd H1Ed

3. ¢ Sila DI QW

4. % Ypid DI YHTd

Question Number : 97 Question Id : 7532295158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafa & g1y &1 RadFT — 59HT 1 a1 89
Options :

1. % YIgHT A

2. ¢ UPHid & SN G He Y DAl

3. % fafd & g1y fae Sn

4. % Upld Pl SHUAT G S

Question Number : 98 Question Id : 7532295159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3myfyes g o faweror 82

Options :

1. % Siig o 3§ P 3IHd HIAT

2. ¢ 3T Y& 3R A MHe J - JUHRIT
3. % UPpid ¥ 94 IUHUI

4. % JAMH BT I UK SUB|

Question Number : 99 Question Id : 7532295160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



P31 XeG Hfdder] Ui ardl g2
Options :

1. ¥ GCHRI

2. % 3Nllq

3. % g

4. % 3fHq

Question Number : 100 Question Id : 7532295161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B 811 & ITd9IG [l STHT ST Uahdll &7
Options :

1. % Y[ B g1 b faaR &1

2. ¢ SildH & QAT I£ T Pl

3. % MAHARA B MAHRI B

4. % Upid &b UYd Bl

Disciplinel
Group Number : 6
Group Id : 753229270
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Disciplinel



Section Id : 753229270

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229327
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532295162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the chemical constituents present in Van den Bergh reagent A is:
Options :

1. # sodium thiosulphate

2. % sodium chloride

3. % sulphanilic acid

4. % gulfanilamide

Question Number : 101 Question Id : 7532295162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁgﬁﬁaﬁ?wé?éqaﬁwan den Bergh) A HHHD Aﬁ@l%ﬂﬂﬂ%ﬂ?ﬁﬁ@f@%‘?
Options :

1. ® YISTH Y ethe

2. % GIfSTH KRES

3. ¢ G 3

4. % FAPI-ATHISS




Question Number : 102 Question Id : 7532295163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The icteric index is a measure that is used to identify:
Options :

1. # diabetes

2. % jaundice

3. % gout

4. % anaemia

Question Number : 102 Question Id : 7532295163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 e Yawi T U011 ¢ foraeT gwamrd g o 9 foraet ugem A & forg fosar smar g2
Options :

1. % OYHg

2. « Uifer

3. % T3¢c

4. % T

Question Number : 103 Question Id : 7532295164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a plasma protein derived chemical mediator of inflammation?
Options :

1. ¥ Bradykinin

2. ® Serotonin

3. % Globulin

4. ¥ Cytokine

Question Number : 103 Question Id : 7532295164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 RERH (VST8) &1 WIsHT Ui ogdd INR-e TR g2
Options :

1. ¢ dfgwrsa
2. % IeIT
3. % Tagfe
4. ® TIsclHTsA

Question Number : 104 Question Id : 7532295165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The source of salmonella generated enterocolitis is:
Options :

1. # cheese

2. # water

3. % shell fish

4. ¥ beef

Question Number : 104 Question Id : 7532295165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS ¥ 819 aTdl UeRIbIars ey &1 |id o1 67
Options :

1. % TAR

2. ® 9ld

3. % Y OB

4. ¢ dIH

Question Number : 105 Question Id : 7532295166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The epithelium composed of a single layer of flattened cells is termed as:
Options :

1. #® columnar epithelium

2. % cuboidal epithelium

3. ¥ pavement epithelium

4. % ciliated epithelium

Question Number : 105 Question Id : 7532295166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U DIRAHT13M Pt T TR A It Iuesa (Tfafdferam) o) fag =ma 3 ST Si1dn 82
Options :

1. % THTDHR IuHdl

2. % YqIhR IUDL

3. ¥ WP Iudbal

4. % JAS UG

Question Number : 106 Question Id : 7532295167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most abundant plasma protein present in the body is:
Options :

1. ¥ albumin

2. # globulin

3. # fibrinogen

4. # plasminogen

Question Number : 106 Question Id : 7532295167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRR & T TR AT H U S a1l WISHT Wi &1 91 82

Options :



1. ¥ Tgfie
2. % TAIgfe
3. % BIsfgdoM
4. ® TICHANSH

Question Number : 107 Question Id : 7532295168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sinusoids are generally found in all of the following, EXCEPT:
Options :

1. # the bone marrow

2. ¥ the brain

3. # the spleen

4. % the liver

Question Number : 107 Question Id : 7532295168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raigs smaR W Fafafad 91t & ue ord 8, e |
Options :

1. ® IRy AT

2. ¥ HiRKT=D

3. % T

4. % Yohd

Question Number : 108 Question Id : 7532295169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The type of aneurysm occurring mainly in the arch of the aorta is:
Options :

1. # fusiform



2. # microaneurysm
3. * saccular
4. ¥ dissecting

Question Number : 108 Question Id : 7532295169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FY I HeTYH & 3MTeh H U1 S a1 TYRSH &1 UHR HIF 91 82
Options :

1. % dH&y

2. % TTSHITYRH

3. % HINBR

4. ¢ fdsed

Question Number : 109 Question Id : 7532295170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The thermoregulatory centre in the brain is located in:
Options :

1. # the cerebrum

2. % the cerebellum

3. ¥ the hypothalamus

4. % the medulla oblongata

Question Number : 109 Question Id : 7532295170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AfkTss H YA (@M fame) &g wel fRyd giar 82
Options :

1. % JHRRTSD

2. % 3IHRTSH




3. ¢ BISUIHY
4. % TGaT 3fisanrer

Question Number : 110 Question Id : 7532295171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The phase of the cell cycle during which the cell may leave the cell cycle is:
Options :

1. ¥ GO

2. % Gl

3.% S

4. % M

Question Number : 110 Question Id : 7532295171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DIfRABT Th BT I8 DI IT IRV § TGP SR HIRAHT, HIfRADT Th BIS Jbal! 82
Options :

1. ¥ GO

2. % Gl

3.% S

4. % M

Question Number : 111 Question Id : 7532295172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of ATP yielded in the body from 1 molecule of glucose as a result of electron transport chain is:
Options :

1. %2

2.% 4

3.%6

4.9 32



Question Number : 111 Question Id : 7532295172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaaed IRag YTl & HRUT IRR H TGl & 1 30] ¥ fva- T UL (ATP) T Bid 82
Options :

1. % 2

2.% 4

3.% 6

4,9 32

Question Number : 112 Question Id : 7532295173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The RNA virus that causes cancer in humans is:
Options :

1. * human papilloma virus

2. % human T cell leukaemia virus

3. # Epstein-Barr virus

4. % hepatitis B virus

Question Number : 112 Question Id : 7532295173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT} & IR U1 HA a1 3R (RNA) TRRY DI 7 82
Options :

1. % ggH UfUeH arRy

2.« TEA 1. 9d b 0T IRy

3. % UUEH-IR 91RY

4. % gUCTEfey &Y. IRy




Question Number : 113 Question Id : 7532295174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The alcohol contained in glycolipids is:
Options :

1. # glycerol

2. % sphingosine

3. % maltitol

4. % sorbitol

Question Number : 113 Question Id : 7532295174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS § S 91 Tedhlgd fAied 8Id 82

Options :

1. % foReRIa
2. ¢ RHREA
3. % Hifeeeld
4. % qifdeid

Question Number : 114 Question Id : 7532295175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Catabolism of serine takes place after getting converted to:
Options :

1. # tyrosine

2. # alanine

3. % cysteine

4. % proline

Question Number : 114 Question Id : 7532295175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

_ HoRafid gH & 918 I &1 3094 (dHeraiass) gl g |
Options :

1. % CRRIRH

2. % YAl

3. ¢ R

4. % Ui

Question Number : 115 Question Id : 7532295176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following vitamins is essential in citric acid metabolism?
Options :

1. ¥ Thiamine

2. # Cyanocobalamin

3. # Ascorbic acid

4. % Retinol

Question Number : 115 Question Id : 7532295176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEfed S T H FEfafed § & o 1 faeifi sia=ae gidl 82
Options :

1. ¢ Y

2. % HIIAIDIETeo

3. % TWDIadD 3T

4. % XfeTa

Question Number : 116 Question Id : 7532295177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The enzyme that is responsible for the conversion of ATP to cAMP is:
Options :

1. ¥ phosphodiesterase

2. % lipoprotein lipase

3. # guanyl cyclase

4. ¥ adenylyl cyclase

Question Number : 116 Question Id : 7532295177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, (ATP) BT cAMP T URAfId = & 1T D14 A1 TS18H IARGRN il 82
Options :

1. % HIEhISEURET

2. % AU Asud

3. # qIAd ArSaie

4. ¥ TsAfIQ Treaee

Question Number : 117 Question Id : 7532295178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8-bit word can address memory locations.
Options :

1. #® 32

2. % 138

3.% 8

4.9 256

Question Number : 117 Question Id : 7532295178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8-foe Trsq TR AbRH! (memory locations) Eal Q@H PR IHA g |

Options :



1. % 32
2. % 138
3.% 8

4. % 256

Question Number : 118 Question Id : 7532295179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A set of instructions is called:

Options :

1. # an address

2. % acode

3. ¥ a programme

4, % g server

Question Number : 118 Question Id : 7532295179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & U T & A A ST ST 5

Options :

Question Number : 119 Question Id : 7532295180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Basic ASCII Code is a standard coding system that uses bits to code each character.
Options :

1. %3



2.¥7
3.9
4. %5

Question Number : 119 Question Id : 7532295180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRIF ASCII HIS T UMD HITST TUTE & Sl YD BhRae bl Bl B & oY fyeT &1 gxaHTd B ]
Options :

1. %3

2.9 7

3.%9

4. % 5

Question Number : 120 Question Id : 7532295181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a software programme that is programmed for doctors to enter patient symptoms into the computer?
Options :

1. ¥ SUMEX

2. % COPES

3. % COPE

4. % IPES

Question Number : 120 Question Id : 7532295181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffed & ¥ ®1F 91 Ue ArtedaR Ui § S Siaex! & Tt SHegex | ARl & TEf0N B gof - & ford T fosa e g2
Options :

1. ¥ SUMEX

2. % COPES

3. % COPE



4. % IPES
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Group Id : 753229271
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
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Question Number : 121 Question Id : 7532295182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The number of grams required for preparing 8 0z of 6 per cent solution of mercuric chloride is (35 grams in 8 0z makes 1 per cent



solution).
Options :
1. % 175 grams
2. % 210 grams
3. % 320 grams
4, ® 144 grams

Question Number : 121 Question Id : 7532295182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR FARISS & 6 TR faT 718 0z TUR HRA & g T TP B (8 oz H 35 UTH 1 UfaRId faaa= =11 8) |
Options :

1. % 175

2.¥210

3. % 320

4. % 144

Question Number : 122 Question Id : 7532295183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following liquid preparations is applied externally to the skin and not in the cavities?
Options :

1. # Ear drops

2. # Douches

3. ®* Enemas

4. ¥ Collodions

Question Number : 122 Question Id : 7532295183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfied & 9 & 91 @Ra Iard @ WR 1681 T ¥ AT S 8 3R 1l § 33T TanT 18} fda Siar

Options :




1. % SRS
2. % g

3. % gfam

4. ¢ AT

Question Number : 123 Question Id : 7532295184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The aromatic water used as carminative for infants in gripe water is:
Options :

1. # camphor water

2. ¥ dill water

3. % chloroform water

4. % anise water

Question Number : 123 Question Id : 7532295184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrgraff & forg 7mgy arer # wiffAfea @rgamsth & = & geauTa farar S aran ifdd or o gia |2
Options :

1. % B B UM

2. ¢ I3 BT UMl

3. % FARIBGIH ST U

4. % Gt &1 UMl

Question Number : 124 Question Id : 7532295185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The strength of 1 in 400 is equivalent to:
Options :

1. % 0.143%



2. % 0.04%
3.9 0.25%
4. % 0.1%

Question Number : 124 Question Id : 7532295185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

400 H T 1 1 Wfad & U It gl
Options :

1. % 0.143%

2. % 0.04%

3.9 0.25%

4. % 0.1%

Question Number : 125 Question Id : 7532295186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. . . Surface arsaof Child _
The paediatric dose calculation of 5, ror sreor agui < 100 = % 0f AdultDose

was proposed by:

Options :
1. % Dilling
2. ® Fried
3. % Young
4. ¥ Catzel

Question Number : 125 Question Id : 7532295186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T W J501 T &G

a1 faforc W@ (ifsafed W) 3 m=m gom s < 100 = TR GUR AL
U1 &1 99 I [T wRarfad faear ure

Options :

1. % fgfei

2. % Thlgs

3. % g

4. & Hewd

Question Number : 126 Question Id : 7532295187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of external preparation of suspension containing indiffusible solid?
Options :

1. ¥ Hydrocortisone

2. % Aspirin

3. % Phenobarbitone

4. ® Sulphadimidine

Question Number : 126 Question Id : 7532295187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad § 9 oF a1 rga=id 319 gad Hded &1 9183 daRt (TaRie-d fIURRH) &1 T 310 82
Options :

~\

1. ¥ gIESIpIcHH
2. % TRYRA

3. % PlaifeeH
4, % GpTSIHSH

Question Number : 127 Question Id : 7532295188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the imperial weight system, %2 scruple represents:
Options :

1. ¥ 10 grains

2. % 60 grains

3. % 20 grains

4. % 40 grains

Question Number : 127 Question Id : 7532295188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sae YR Tt #, 1 Tpud 1 UeRid #ar g2
Options :

1.¥ 1094

2. % 60U

3. % 2004

4. % 40U

Question Number : 128 Question Id : 7532295189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of an ointment made by chemical reaction?
Options :

1. ¥ JTodine ointment

2. % Ammoniated mercury ointment

3. ¥ Calamine ointment

4. % Salicylic acid ointment

Question Number : 128 Question Id : 7532295189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o 91 IafAe Sififshar ¥ 99 AdgH P IS8 82




Options :

1. ¥ SIS HagH
2. % SHIHYYH URT HelgH

3. % HAMST HAgH

4. % QfaRifere s aagy

Question Number : 129 Question Id : 7532295190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The solvent contained in dimercaprol injection is:
Options :

1. ¥ dimethyl formamide

2. # ethyl acetate

3. % benzyl benzoate

4. % alcohol

Question Number : 129 Question Id : 7532295190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS SoiaRM H S 11 faars ffed giar g2
Options :

1. % SAfd BAHTSS

2. % TRd wice

3. ¢ dollgd Solue

4. * Teblgd

Question Number : 130 Question Id : 7532295191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synthetic fat bases consisting of a mixture of tri, di and mono glycerides of saturated fatty acid are known as:
Options :



1. ¥ Massa estarinum
2. % Maasuppol

3. % Wecobee

4. ¥ Witepsol

Question Number : 130 Question Id : 7532295191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gqd Bt 3d & 18, T3 3R A RIS & fHyur ¥ gad ST a9 SMUR &1 {6 A1 & ST i 82
Options :

1. ¢ T QIR

2. % TTYWIEl

3. % diclel

4. % facudra

Question Number : 131 Question Id : 7532295192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, the National Malaria Eradication Programme was launched in:
Options :

1. % 1947

2.9 1958

3. % 1963

4. % 1972

Question Number : 131 Question Id : 7532295192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H, TS AR I DRI H He Y b1 7T UT?
Options :

1. % 1947




2.9 1958
3. % 1963
4. % 1972

Question Number : 132 Question Id : 7532295193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cohort study is associated with which of the following methods of epidemiology?
Options :

1. ¥ Analytical epidemiology

2. # Descriptive epidemiology

3. # Quantitative epidemiology

4. ® EBxperimental epidemiology

Question Number : 132 Question Id : 7532295193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PIBIC e, HeMRI fawH &t Fafemad & ¥ fod usfa 9 deifed
Options :

1. ¢ faRdvuTes Aol fasm

2. % qUIHTHS HETHR]T a3

3. % HHEHS HMHR] faqH

4. % U AEMHRT faqH

Question Number : 133 Question Id : 7532295194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The communicable disease caused by RNA paramyxovirus is:
Options :

1. % tuberculosis

2. % chicken pox



3. ¥ measles
4. # diphtheria

Question Number : 133 Question Id : 7532295194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R.TA.T. (RNA) WRIMAaEd & SR 99 & § 19 1 Jar) A7 81 82
Options :

1. % qufde

2. % T Uiy

3. ¢ G

4. % fgufitwn

Question Number : 134 Question Id : 7532295195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sporangiospores are associated with:
Options :

1. ¥ phycomycetes

2. # ascomycetes

3. * basidiomycetes

4. ¥ glomeromycetes

Question Number : 134 Question Id : 7532295195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WRFSRIRR forad Heiferd g

Options :

1. ¢ BRGNS

2. % MR

3. % SRS



4. % TNHRMATSRIEN

Question Number : 135 Question Id : 7532295196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Schedule regarding standards of disinfectant fluids is:
Options :

1. % Schedule J

2. % Schedule R

3. ¥ Schedule O

4. % Schedule P

Question Number : 135 Question Id : 7532295196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed ¥ @ o F srgge Fredee e e & AT § Gt 82

Options :

Question Number : 136 Question Id : 7532295197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Schedule corresponding to proforma for application for licences, issue and renewal of licences, and for sending memoranda under the Drugs
and Cosmetics Act is:

Options :

1. # Schedule E1
2. % Schedule A
3. # Schedule D1
4. % Schedule K



Question Number : 136 Question Id : 7532295197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed 3 I oI I ST argdy & o fae H3, ASHT SIRT 6 3R BT A HIHR0] B adT WY 3R T qrgeft
FITH & d8d I WoH & fow el T Safdd g2

Options :

Question Number : 137 Question Id : 7532295198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Section 9 of the National List of Essential Medicines is specifically about:
Options :

1. # antimigraine medicines

2. % antiinfective medicines

3. #* antineoplastic medicines

4. ¥ antiparkinsonism medicines

Question Number : 137 Question Id : 7532295198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SAID GaTel HIFI YA BRI FIH FIRH G
Options :

1. % HIgU AR gary

2. % HhHUI A GaTy

3. % R e gany

4. ¢ UIfb-afAeH et garg



Question Number : 138 Question Id : 7532295199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The subsequent penalty on the offence related to the manufacture, sale, distribution, stocking, exhibition, offering for sale or distribution of
spurious drugs but not manufactured under the name of any other drug is:

Options :

1. #® imprisonment up to 10 years or fine up to 320,000 or both

2. ¥ imprisonment for not less than 6 years to 10 years and fine of not less than 310,000
3. % imprisonment for 2 to 4 years or fine of not less than ¥5,000 or both

4. ® imprisonment up to 10 years or fine upto Z5,000 or both

Question Number : 138 Question Id : 7532295199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tapeht garsfl o T, fasst, faaRur, YeRur, UeRHT, fawm! o forg U=rer a1 faaror o=, afds fasdlt 3= gar o =9 9 fAfHa =81 817 &1
fRufa § Tafdd Rty & orqadf < w82

Options :

1. % 10 Td AP BI P TT 220,000 TP T ST T G

2. HHIYFHH 6 A Y AR 10 A dP DI g 3R HH I HH 210,000 T JHMAT

3. % 2 Y 4 WA B! g a1 HH F HH 25,000 BT AT AT G

4. % 10 1A AP DI g AT 25,000 T BT AT AT AT

Question Number : 139 Question Id : 7532295200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is credited to the profit and loss account?
Options :

1. # Printing and stationary

2. % Carriage outwards

3. % Advertisement

4. ¥ Cash discount from creditors



Question Number : 139 Question Id : 7532295200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafea 3 3 el ary ok g1 ard & 1 (hfEe) fasan S g2
Options :

1. % fliféT ik e

2. # b HIS HIST

3. % fazmo=

4. ¥ WFER] Y U dhG ge

Question Number : 140 Question Id : 7532295201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a current asset?
Options :

1. ®* Quorum

2. ¥ Inventory

3. % Debenture

4. % Tender

Question Number : 140 Question Id : 7532295201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofifed # 3 o @ ue arqg uRaufi g2
Options :

1. % BHRY

2. HIA-gat

4:53%@??[
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Question Number : 141 Question Id : 7532295202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The accounting concept where income is measured by the amount charged for goods sold or services rendered to customers is known as:
Options :

1. # the cost concept



2. # the matching concept
3. % the revenue realisation concept

4. # the entity concept

Question Number : 141 Question Id : 7532295202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 A YhedT &1 4 § S I% d8d 31 &1 UIedh! &I 9t 18 axg3il a1 U™ &1 oI arelt Sarsii 3 forg <t 78 i & A1y Sran |2
Options :

1. % TNTd b ouHl

2. % M YheuAT

3.  XoId TGy e

4. % Yd bl

Question Number : 142 Question Id : 7532295203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘First in First Out Method’ is a method associated with:
Options :

1. ¥ pricing of materials

2. # codification of items

3. # inventory control techniques

4. ¥ purchase procedures

Question Number : 142 Question Id : 7532295203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3 e T3¢ NYS [ gt U fafer g2
Options :

1. ¢ HId &1 Hed FeRum

2. % I3 BT ATl




3. % -l =0 o
4. % Wi ufdhar

Question Number : 143 Question Id : 7532295204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used as an antioxidant for aqueous injections?
Options :

1. # Thiocarbamide

2. ¥ Thiourea

3. % Thiomersal

4. * Thiosemicarbazide

Question Number : 143 Question Id : 7532295204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofied o © fhadT ST Siild SoiaRM & ot T Uetsiiadise & & U H a1 ST g2
Options :

1. % Rftereiss

2. g

3. % fygmd

4. % REiRfieEigs

Question Number : 144 Question Id : 7532295205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum number of physicians required in the Pharmacy and Therapeutics Committee is:
Options :

1.¥3

2. % 4

3.% 2



4. %5

Question Number : 144 Question Id : 7532295205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTE 3R FRiferciia affa & <gmaw fea fRifecs (@i sraxgs gid 3
Options :

1.¥3

2.% 4

3.% 2

4. %5

Question Number : 145 Question Id : 7532295206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most common emulsifying agent used in parenterals is:
Options :

1. # methyl cellulose

2. # gelatin

3. ¥ lecithin

4. % borax

Question Number : 145 Question Id : 7532295206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR garsfl & Ugad g aTel Ta 3 URRAGR] HRE HIF A1 82
Options :

1. % TS aqan

2. ® forelfest

3. ¢ AR

4. % IR



Question Number : 146 Question Id : 7532295207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term associated with the rapid onset and progress of a disease is termed as:
Options :

1. # systemic

2. % local

3. % chronic

4. ¥ acute

Question Number : 146 Question Id : 7532295207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foralt TART Bt i BT 3R W T IS Xeg B! b ATH I ST ST 82
Options :

1. % Refis (systemic)

2. % Alpd (local)

3. % DD (chronic)

4. ¢ UR]C (acute)

Question Number : 147 Question Id : 7532295208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The advice on a prescription ‘hora somni’ means:
Options :

1. # once a day

2. % atbed time

3. # early morning

4. # in the evening

Question Number : 147 Question Id : 7532295208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T WP H R et Targ 8RT AT (hora somni) T 3T 31 gld1 82
Options :

. % fGAATH aR

2. ¢ AH & IHT

3. % &g oleal

4, % YA DI

Question Number : 148 Question Id : 7532295209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Isoniazid-Phenytoin interaction resulting in phenytoin toxicity is a result of:
Options :

1. ¥ interaction associated with metabolism

2. % interaction associated with excretion

3. % interaction associated with absorption

4. % interaction associated with distribution

Question Number : 148 Question Id : 7532295209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSNS - T3 Bt ST 37 foh a1 & HRUI ez fAWeddI 8kt g St & URUMRGR=Y gait g |
Options :

1. ¢ IUTTAT I e 3fd:foan

4 % RIEROI A 2 iR

Question Number : 149 Question Id : 7532295210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The ratio of velocity of light in one medium to the velocity in a second medium is known as:
Options :

1. * molar refractivity

2. ¥ refractive index

3. * molar polarization

4. % molar polarizability

Question Number : 149 Question Id : 7532295210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A1H B UHT & I 3R gOR AT T UHT & Q7 & SUTd D g A1 & SI1 It 82
Options :

1. % TR uddadl

2. ¢ AP JABID

3. % HITR Y]

4. % IR YdlepRord

Question Number : 150 Question Id : 7532295211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The law related to the study of gas solubilities is known as:
Options :

1. % Ohm’s law

2. % Henry’s law

3. ¥ Nernst’s law

4. ¥ Faraday’s law

Question Number : 150 Question Id : 7532295211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & fadgar & sreoa= @ &fd Fram o foeg 9 J S1=1 97 82




Options :

1. % 3NH &l fgm
2. ¢ R &1 A9H
3. % ke &I Ao
4. % B8 H1 fgm

Question Number : 151 Question Id : 7532295212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In electrolytes, the sum of two transference numbers, t+ and t— is equal to:
Options :

1. %0

2.% 2

3.¢ 1

4, % 3

Question Number : 151 Question Id : 7532295212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U faggd smuacd H, & SRTEAI®, t+ 3R t— BT AN & IR BT g
Options :

1. %0

2. %2

3.¢ 1

4, % 3

Question Number : 152 Question Id : 7532295213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Dimethyldodecylammonio propane sulfonate is an example of a/an colloid.

Options :



1. ¥ ampholytic
2. % cationic
3. * anionic

4. * non-ionic

Question Number : 152 Question Id : 7532295213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRAUEAS SR MU e e Th  DHIARS B ISR G|
Options :

1. v IugyHl

2. % YIRHA

3. % RUMMHd

4. % TR-3MMAG

Question Number : 153 Question Id : 7532295214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In coarse dispersions, the condition when no clear supernatant is shown on standing is known as:
Options :

1. * ionic equilibrium

2. ¥ flocculation equilibrium

3. # Donnan membrane equilibrium

4. % phase equilibrium

Question Number : 153 Question Id : 7532295214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Al Baig H, 98 fufd e 1 3 ot Sirelt 8 e R R #1891 U@} (gurace) fowars 78 aarg?
Options :

1. % D e




2. ¢ U Aqa
3. % S et Ae
4. % Yo o

Question Number : 154 Question Id : 7532295215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The measurement of equilibrium constant in charge transfer complexes was derived by:
Options :

1. # Clausius

2. % Debye

3. ¥ Benesi

4. # Nernst

Question Number : 154 Question Id : 7532295215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TART RIFITRY Hpdl H e fRRI% &1 A1 fovgds gRT Ui favam mam om
Options :

1. % Ty

2. % qaTg

3. ¢ S

4. % T

Question Number : 155 Question Id : 7532295216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following diseases is caused by Treponema pallidum?
Options :

1. ¥ Leptospirosis

2. ® Tetanus



3. * Pinta
4. ¥ Syphilis

Question Number : 155 Question Id : 7532295216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & @ @ a1 e oA Aftrer & SR AT 82
Options :

1. % APRUSRIR

2. % fedg

3. % fijer

4. ¢ Rymierd

Question Number : 156 Question Id : 7532295217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the surface active agents, quaternary ammonium chloride is categorised as:
Options :

1. % a wetting agent

2. % an anionic agent

3. ¥ a cationic agent

4. # an emulsifying agent

Question Number : 156 Question Id : 7532295217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Aichd HRS! |, Iguldd mf-od sarzs & 9 8 ¥ fog u & Tiffed fovar s g2
Options :

1. % Toh iG] HHD

2. % U MHD HHD

3. ¥ U RUHd HHD



4. % TP UOHIDRI HHD

Question Number : 157 Question Id : 7532295218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The antimicrobial action of mercuric chloride is attributed to the inhibition of enzymes having group.
Options :

1. ¥ sulfhydryl

2. # hydroxyl

3. #® amide

4. % sulfone

Question Number : 157 Question Id : 7532295218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARIRS FIRTZS D! ORI fopa g aTal TSI & SfaRIY & BRI g g |
Options :

1. ¢ gehgaied

2. % grEglioedd

3. % UHIgS

4. % b

Question Number : 158 Question Id : 7532295219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The vitamin used by Clostridium tetani as a growth stimulator is:
Options :

1. # niacin

2. ¥ riboflavin

3. # pyridoxine

4. % tocopherol



Question Number : 158 Question Id : 7532295219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FARCISTH STt gRI gi Ioie & w0 H fq faetf®m &1 IugiT fasar sirar 82
Options :

1. % e

2. ¥ ST

3. % URSIiea

4. % CIDIBRIA

Question Number : 159 Question Id : 7532295220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The principal product of corrosion on dezincification is:
Options :

1. # antimony

2. # phosphorous

3. % copper

4. % arsenic

Question Number : 159 Question Id : 7532295220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foa=re (dezincification) UX T&RUT T 9 3diq S AT %‘?
Options :

1. % Tl

2. % BHRBHRY

3. ¥ BIR

4. % RS



Question Number : 160 Question Id : 7532295221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Krystal crystallizer works on the principle of:
Options :

1. # supersaturation by cooling

2. # supersaturation by adiabatic evaporation
3. ¥ supersaturation by evaporation of solvent

4. % supersaturation by salting out

Question Number : 160 Question Id : 7532295221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpted fptcaser ford Rigid R S HRd1 72
Options :

1. % Xitde gRT ff¥qgitd

2. % TGS RN gRT SRt

3. ¢ fqd® & iRl gRT Sifaigitd

4. % UM 33T GRT SAfdiad
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 7532295222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The IP specification for nominal mesh aperture size of 180 pm corresponds to:
Options :

1. # sieve number 60

2. ¥ sieve number 85

3. % sieve number 44

4. % sieve number 100

Question Number : 161 Question Id : 7532295222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

180 HTSShIF & ATTH-TeT B TU=R 3MTHR P forw 1p Az P IdgIar gl

Options :

1. % g R 60
2. ¢ Tig "R 85
3. % ig HeR 44




4. % A AR 100

Question Number : 162 Question Id : 7532295223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The toxic gas obtained on decomposition of Teflon is:
Options :

1. ¥ perfluoroisobutene

2. # epoxy propane

3. % chlorotrifluoro ethylene

4. # polypropylene

Question Number : 162 Question Id : 7532295223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CURAM & 3fTHe U DI T favelt 719 St g2
Options :

1. ¥ RRRIASHISGE

2. % QU YU

3. % FARICISHIRT TRICHH

R RIGIICIESIE

Question Number : 163 Question Id : 7532295224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The approximate moisture content of a hard gelatin capsule in normal conditions is:
Options :

1. % 13-16%

2. % 3-6%

3. % 20-25%

4. % 7-10%



Question Number : 163 Question Id : 7532295224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g gRfRufaat & 818 fTaifed wye o1 TRTHAT STcaigT g gl
Options :

1. ¥ 13-16%

2. % 3-6%

3. % 20-25%

4. % 7-10%

Question Number : 164 Question Id : 7532295225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of inorganic two phase system gels?
Options :

1. ¥ Carbopol gel

2. ® Tragacanth gel

3. # Polyethylene gel

4. ¥ Aluminium hydroxide gel

Question Number : 164 Question Id : 7532295225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeafaa & § oF a1 e fg-UTaRTgumedt Sid (gel) T TH ISTER0T 82

Options :

1. % BHEOd od

2. % SMBY S

3. ® Uloufdefia oid

4. ¥ THHATH TRSIRIES S




Question Number : 165 Question Id : 7532295226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of water soluble and water miscible suppository base?
Options :

1. # Cocoa butter

2. # Suppocire base

3. ¥ Wecobee base

4. ¥ Glycerinated gelatin

Question Number : 165 Question Id : 7532295226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & I & w1 o/ & gasiia ok oa § frsofta gutsiest 39 &1 3a1er0 82
Options :

1. % HIchISAT Heg

2. % YURIRR 99

3. % dipldl oY

4. ¢ frrgiged forafes

Question Number : 166 Question Id : 7532295227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used as a tablet direct compression excipient?
Options :

1. # Sodium chloride

2. % Dibasic calcium phosphate

3. % Titanium dioxide

4. ¥ Hydroxyl ethyl cellulose

Question Number : 166 Question Id : 7532295227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFrafefed o 9 forerepT S¥dHTe codic Ual Jule Ssed (SRS HUM TRAUUC) & 4 H bl Sirdl &
Options :

1. % QST FIRES

2. ¢ SRARIE HickH Bidhe

3. % TR SRITRISS

4. % grggiiad TRIe Aegefel

Question Number : 167 Question Id : 7532295228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The T lymphocytes involved in mediating the development of T-cells are:
Options :

1. # suppressor T-cells

2. # helper T-cells

3. % cytotoxic T-cells

4. ¢ inducer T-cells

Question Number : 167 Question Id : 7532295228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T-DIRB13M & [dH™ & Tegaa o o ot T-fenpiarge =nfird gt g2
Options :

1. % QD T-HIRIBIY

2. % YED T-DIRABIY

3. % GIgcIC D T-HIRIBIY

4. ¢ IRP T-HIRBIY

Question Number : 168 Question Id : 7532295229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The most preferred production method of L-glutamic acid is through:
Options :

1. #¥ extraction

2. ¥ fermentation

3. # chemical synthesis

4. # intermediate production

Question Number : 168 Question Id : 7532295229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qﬁ—w 3T (L-glutamic acid) & IdTe P gaiee gy fafd &1 Y g2
Options :

1. % frspyur

2. ¢ fobua

3. % IS Y0

4. % HEIAl IATGA

Question Number : 169 Question Id : 7532295230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The heavy chain corresponding to the immunoglobulin IgA is:
Options :

l.#®Y

2. % ¢

3.¥ ¢

4. % 1

Question Number : 169 Question Id : 7532295230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR IgA ¥ TaRrd HRY 8Raa o1 It 82

Options :



1. %Y
2. % ¢
3. a
4, %y

Question Number : 170 Question Id : 7532295231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The antisense drug used for the treatment of cytomegalovirus in patients with AIDS is:
Options :

1. ¥ Fomivirsen

2. % Kogenate

3. % Refludan

4. % Filgrastim

Question Number : 170 Question Id : 7532295231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSY (AIDS) & RIS H WIZSTAGIATERY & IUAR & folt XA Pt ST aTelt TR gar i It ]2
Options :

1. ¢ HIARIT

2. % PloC

3. % YRISH

4. % flheuiRey

Question Number : 171 Question Id : 7532295232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is categorised as having intermediate risk potential with reference to bioequivalence study?
Options :

1. % Ephedrine



2. % Griseofulvin
3. # Quinidine

4. ¥ Phenytoin

Question Number : 171 Question Id : 7532295232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oId JAged! eaE & e § Fufafad & § fd gerad! Sy et ol & w0 8 avffed forar i g2
Options :

1. % 3ohigA

2. ¢ TSI e

3. % fBfEH

4. % BpfACIS

Question Number : 172 Question Id : 7532295233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pharmacokinetic parameters like distribution and elimination together is called:
Options :

1. # metabolism

2. # excretion

3. # absorption

4. % disposition

Question Number : 172 Question Id : 7532295233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fIERU1 3R I o BHDIBRATcH AU S| ®I Hgad U ¥ ford =10 J ST i1l 62
Options :

1. % UM

2. % IhoA




3. % ANl
4. W

Question Number : 173 Question Id : 7532295234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The blood protein to which vitamin B12 binds is:
Options :

1. ¥ ol globulin

2. % @2 globulin

3. % al acid glycoprotein

4. # o2 acid glycoprotein

Question Number : 173 Question Id : 7532295234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 T Ui DI 91 & orge Iy faeiae B12 s gld1 82
Options :

1. ¥ al Wﬁ@lﬁ‘ﬂ

2. % a2‘?‘h§§lﬁ“l:[

3. % o] TRYS TelghIUICH

4. % o2 TS TSHIIEH

Question Number : 174 Question Id : 7532295235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The specialised cells known as astrocytes are present in which of the following biological barriers in the body?
Options :

1. # Capillary endothelial barrier

2. # Cell membrane barrier

3. % Blood brain barrier



4. ®* Blood cerebrospinal fluid barrier

Question Number : 174 Question Id : 7532295235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRNIEeY & M I S S arel! favy SR IR § Fafafed & @ fey sfaw siaty & Aigg gt 82
Options :

1. % BB T Har ARY

2. % PHIRIPT el SRIY

3. ¢ Yad AT ARy

4. % Jad ARTSHHT gd Y

Question Number : 175 Question Id : 7532295236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The reagent used in the assay of oxygen is:
Options :

1. ¥ alkaline pyrogallol solution

2. % neutral ferric chloride

3. # acetous perchloric acid

4. ® neutral formaldehyde

Question Number : 175 Question Id : 7532295236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & AT H ford SifieHes o1 Ui fhar Sirar g2
Options :

1. ¢ &R1g UrgRIard faeaH

2. % IGRH B FARSS

3. % UReY WRadiNG 37
4. % ISH BIH SRS




Question Number : 176 Question Id : 7532295237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The permanent red colour obtained at the end of the titration in Volhard’s method is due to the formation of:
Options :

1. ¥ ferric thiocyanate

2. # silver chromate

3. ¥ ammonium thiocyanate

4, % ammonium chromate

Question Number : 176 Question Id : 7532295237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR H AT ST F A AN R AAT & &9 & SR U sl g
Options :

1. ¢ B YIS

2. % RYeaR AT

3. % SHIFTH YR

4. % SAITIH AT

Question Number : 177 Question Id : 7532295238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used for standardisations in redox titrations?
Options :

1. ¥ Ferrous ammonium sulphate

2. % Calcium carbonate

3. % Potassium hydrogen phthalate

4. # Sulfanilic acid

Question Number : 177 Question Id : 7532295238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YSIRT A H AFHIHR0T 3 FHafeiad & ¥ fewe swaara foar S g2
Options :

1. ¢ Ty SHITH Tethe

2. % BHieRH HIEMC

3. % Uiy grgsied dde

4. % bl S

Question Number : 178 Question Id : 7532295239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In gravimetric analysis for the determination of ash value, the acid insoluble portion of ash is determined by boiling with:
Options :

1. ¥ dilute hydrochloric acid

2. % sodium chloride

3. ® acetic acid

4. % ammonium hydroxide

Question Number : 178 Question Id : 7532295239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%a?q\(a%h value) o FYRUT & forQ T ST ATt YRTEHS TaRAw0T H, IR & 31T SR iR ®i o 1Y IR Heffd
EIcI

Options :

1. ¢ T TS SIoiINGD S
2. % HIf$qq wRZS

3. % TYifcd 3

4. % MUY TSRS

Question Number : 179 Question Id : 7532295240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following drugs is assayed by complexometric titrations as per Pharmacopoeial standards?
Options :

1. # Calcium amino salicylate

2. # Potassium bromide

3. % Magnesium sulphate

4. # Zinc oxide

Question Number : 179 Question Id : 7532295240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T ATe! & IR AEfifad § & B T 31 &) Bracaiied SFHTI gRT ST SiTdl 82
Options :

1. % Pickry ST SfarRiae

2. % ORI SAgS

3. ¢ WHIR™H el

4. % i SIS S

Question Number : 180 Question Id : 7532295241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complexone III is otherwise known as:
Options :

1. # ferri ferrocyanide

2. ¥ disodium edetate

3. # potassium permanganate

4. % cupric iodide

Question Number : 180 Question Id : 7532295241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



PHIFATI 111 B TH Y ST Sar gl

Options :

1. % T3} RIS S
2. ¢ QiIfgTH ufgce

3. % Gy WHTe
4. % P MAISZS
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Question Number : 181 Question Id : 7532295242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of azo indicator?
Options :

1. ¥ Phenolphthalein

2. # Phenol red

3. ¥ Methyl red

4. % Ferroin

Question Number : 181 Question Id : 7532295242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ'ﬁmﬁ oy ﬁ? B3l Q\_Ih Tdhddh (azo indicator) T 3algXUl %‘?
Options :

1. % foImelH

2. % flAI S

3. ¢ THUIEARs

4. % Tl

Question Number : 182 Question Id : 7532295243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pH range of indicator is 6.8-8.4.
Options :

1. #* methyl orange

2. ¥ phenol red

3. % bromocresol green

4. ¥ methyl red



Question Number : 182 Question Id : 7532295243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L Hbdad &I U1, R (pH range) 6.8-8.4 =i
Options :

1. % ToRTSd Sk

2. ¢ TS

3. % Sl W9

4. % MUEATS

Question Number : 183 Question Id : 7532295244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a dye that produces results similar to litmus paper?
Options :

1. % Morin

2. % Curcumin

3. # Lawsone

4. ¥ Azolitmin

Question Number : 183 Question Id : 7532295244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed 5 @ 91 U6 o0 § S fieas TR & 991 Roms a2
Options :

1. % HIRkA

2. % HIRHA

3. % dNEH

4. « Tonfereiid

Question Number : 184 Question Id : 7532295245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The indicator used in nonaqueous titration of barbiturates is:
Options :

1. ¥ thymol blue

2. % phenolphthalein

3. # bromocresol green

4. # crystal violet

Question Number : 184 Question Id : 7532295245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sfagey & TR-STeid A | fhd Tardd &1 JaNT fosar STl g2
Options :

1. ¢ YTSHId &

2. % BIFIAURIH

3. % SHIfhEId U

4. % foed digde

Question Number : 185 Question Id : 7532295246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The buffer present in water soluble radio opaque contrast media is:
Options :

1. ¥ citrate buffer

2. # acetate buffer

3. % sulfate buffer

4. # tartrate buffer

Question Number : 185 Question Id : 7532295246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o U gorRiTa Xear SRR dheRe A1eqd § 18 4 B I 9% Hi9lG oidl 62
Options :

1. ¥ HIg¢C IR

2. % Tl IR

3. % Helbc THR

4. % TICC TBR

Question Number : 186 Question Id : 7532295247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The inorganic compound used as an emetic is:
Options :

1. # sodium iodide

2. % ferric chloride

3. * jodine

4. ¥ copper sulphate

Question Number : 186 Question Id : 7532295247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JHASR! & U T ST faraT ST aTe SHbTe e AT B 91 82
Options :

1. % Qifeay AISss

2. % HR® HARISS

3. % IS

4. ¥ HIR Jabhe

Question Number : 187 Question Id : 7532295248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nitrous oxide should be stored in metal cylinders with temperature NOT exceeding:



Options :
1. ®# 10°C
2. % 26°C
3. ¥ 36°C
4. % 45°C

Question Number : 187 Question Id : 7532295248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y SIS S Bl T 3% qIEH W U1 & Rifeiexi o Yeia sl fovan S =gl
Options :

1. ® 10°C

2. % 26°C

3. ¥ 36°C

4. % 45°C

Question Number : 188 Question Id : 7532295249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most abundant extracellular ion in the body is:
Options :

1. ® Mg2+

2. % Na+

3. % K+

4. % Ca2+

Question Number : 188 Question Id : 7532295249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRR H JaY TR AET H U S aTel §Tel BRI S S 1 82
Options :

1. * Mg2+




2. % Na+
3. % K+
4, % Ca2+

Question Number : 189 Question Id : 7532295250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Clonidine structurally is a/an derivative.
Options :

1. # pyrazoline

2. % triazine

3. ¥ imidazoline

4. # pyrimidine

Question Number : 189 Question Id : 7532295250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS WIS ©UJTH  HAA gl
Options :

1. % ORRTSNeH

2. % TR

3. ¢ SIS

4. % yRRIfAfET

Question Number : 190 Question Id : 7532295251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cholesterol lowering agents is a naphthalenyl ester derivative?
Options :

1. # Clofibrate

2. # Gemfibrozil



3. % Colestipol
4. % Lovastatin

Question Number : 190 Question Id : 7532295251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # § P 1 Blereicl HH B dTe HRb TR TR g 82
Options :

1. % Flfthsic

2. % SHBISSITA

3. % HIAReUld

4. ¢ QaRefeA

Question Number : 191 Question Id : 7532295252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The antibiotic having mechanism of action attributed to muco peptide synthesis inhibition is:
Options :

1. % cycloserine

2. % bacitracin

3. % penicillin

4. % chloramphenicol

Question Number : 191 Question Id : 7532295252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafed # 3 @F @ tharies o) ufhar ! IpTEs T a1y TR SHTUTRd g 82
Options :

1. % QISR

2. ¢ dRICRA

3. % UMRYferE



4. * FARTHRB

Question Number : 192 Question Id : 7532295253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dioscin is an example of:

Options :

1. # triterpenoid

2. ¥ steroid saponin

3. # alkaloidal resin

4. ® mucilage

Question Number : 192 Question Id : 7532295253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIS 399 ¥ fordepT Ua IaTeRU 52
Options :

1. % TIECUAIZS

2. ¥ WIS JUIfAA

3. % Tehellgs oM

4. % TRy

Question Number : 193 Question Id : 7532295254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aleurone grains present in seeds are a type of:
Options :

1. # defensive proteins

2. % transport proteins

3. ¥ storage proteins

4. % contractile proteins



Question Number : 193 Question Id : 7532295254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN A ASETERAIT I TBR Bl
Options :

1. % &THD UIEH

2. % YRag Ui

3. ¢ YESRUTUIEH

4. % GHIAd UIeH

Question Number : 194 Question Id : 7532295255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pungency of ginger is due to the presence of which of the following homologous phenols?
Options :

1. ¥ Gingerol

2. % Borneol

3. # Cineole

4. % Citral

Question Number : 194 Question Id : 7532295255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R BT Ao FHEfRad o ¥ fry IHeid WiFid o SURKT & BRI BIdT 67
Options :

1. ¢ fSioRId

2. % S

3. % RyHand

4. % cd



Question Number : 195 Question Id : 7532295256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an oleogum resin obtained from the stem of Commiphora?
Options :

1. # Asafoetida

2. % Myrrh

3. % Ginger

4. % Camphor

Question Number : 195 Question Id : 7532295256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mﬁ@ﬁﬁﬁﬁquGﬁﬁm?{%ﬂ(oleogumresin)%@[W%ﬂﬁﬁwmg?
Options :

1. % gIT

2. ¢ digaM

3. % 3Xd

4, % HYR

Question Number : 196 Question Id : 7532295257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an organoleptic factor for the standardisation of herbal drugs?
Options :

1. % Colour

2. ¥ Moisture content

3. ¥ Odour

4. ® Taste

Question Number : 196 Question Id : 7532295257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faffed & § &9 91 gad a1l & MBI & (o1 Tgad g1 aTell U TIPS HRS gl 62
Options :

1. % 7

2. ¥ STGA

3. % Ty

4. % QT

Question Number : 197 Question Id : 7532295258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following traditional medicines is a semisolid dosage form?
Options :

1. ®* Asava

2. % Vatika

3. * Satva

4. % Avaleha

Question Number : 197 Question Id : 7532295258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed 7 3 o f uRuRe il 31319 TR1e = & gt 32
Options :

1. # A9

2. % dIfcpr

3. % dd

4. ¢ Jadgl

Question Number : 198 Question Id : 7532295259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The prominent nutraceutical used for allergy relief is/are:
Options :

1. ¥ Ginkgo biloba

2. % Momordica

3. # flax seeds

4. % green tea

Question Number : 198 Question Id : 7532295259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 4 e & oY SXAHTS fodT ST aTal U Ui S (SR dIF-31 g2

Options :

O

1. ¢ S~ fadian
2. % gHIfSH

3. % 3Tt & ool
4. % YA

Question Number : 199 Question Id : 7532295260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An unpleasant ammoniacal odour is generated in which of the following drugs during storage due to humidity?
Options :

1. % Saffron

2. % Rhubarb

3. # Cinnamon

4. ¥ Ergot

Question Number : 199 Question Id : 7532295260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HERUI & SR TH & HRU FHafaRad # 3 59 gar & te ity smifars 1y Iaw gidl 82

Options :



1. % PIR
2. % &gt
3. % et
4. ¥ 3fic

Question Number : 200 Question Id : 7532295261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the brilliant red dye obtained from insects?
Options :

1. % Ocher

2. % Indigo

3. ¥ Cochineal

4. # Carajurin

Question Number : 200 Question Id : 7532295261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad 7 9 oF T oISt A Ui 819 aTe THBER e I5Td 82
Options :

1. % =

2. % Hid

3. ¢ BIH

4. % BRI




